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(stripe)

(% y) (R, G, B) 2
// *** BEGIN YOUR PROGRAM *** // | —»
/ X X 15
if((x/16)%2==0) 16 0 2
R =191 - (x - y)/4, 1 X
G= 63-(x-Yy)/4 } 1 16 31 16 1
B =127 + (x - y)/2; 1 2
} 16 2
else{
R =255 - y/2; X (x/16) | (x/16)% 2
G = 255; } 2 0 15
B=255-y; 16 31
} 32 47
48 63
// *** END YOUR PROGRAM *** //
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7/ /ﬂ TMLib
// 102p000 1 java for TMLib URL TMLib
//
import jp.ac.teumedia* [URL] http://www.teu.ac.jp/media/~earth/TMLib/
) .
public class u02p000 1 extends TMLib { u02p000 1 java
final static int vsize = 256; \
i L . .
pub |(? static void mam(Stnng 1] args) { ~= vsize view port size 256
begin(new u02p000_1(), vsize, vsize);
} 256
0 255 y
public void Main() { 0
intx,y, R, G, B; 256
TMLiblmage img = new TMLiblmage();
. ! . 0 255
img.newlmage(vsize, vsize): 256
for(x = 0; x < vsize; x++){
for(y = 0; y < vsize; y++){ 255
\/ v
y 256
// *** BEGIN YOUR PROGRAM *** //
R = 255; ]
G = 255;
B = 255;
// *** END YOUR PROGRAM *** // /
img.setRGB R, G, B);
} img.setRGB(x, y, R, G, B); File - Save
}
drawlmage(0, 0, img); URL
img.writelmage("'u02p000_1.bmp™);
}
} [URL] http://www.teu.ac.jp/media/"tagiru/math/

Math.abs(double a) Math.sin(double a), Math.cos(double a),
Math.tan(double a)
180 1 (Math.PI)

Z1 = Math.abs(X*X - Y*Y); -11
Z1 = 100.0 * Math.sin(X*Math.PI/180.0) + 127.0;
Math.exp(double n), Math.pow(double a, double n)

(Math.E) n a n Math.asin(double a), Math.acos(double a),
Z1 = Math.exp(X*X + Y*Y); Math.atan(double a)
Z2 = Math.pow(X*X + Y*Y, 2.5);
Z1 = 80.0 * Math.asin(X/200.0); cos® 1 x
Math.log(double a) 0 >
(Math.E)
Z1 = Math.log(X*Y); 0
sin@
Math.sqrt(double a) 1

Z1 = Math.sqrt(X*Y); y Y




//

// u02p000 2 java for TMLib
//

import jp.ac.teu.media.*;

public class u02p000 2 extends TMLib {

0 479

\

> 480

final static int vsize = 480;

public static void main(String [] args) {
begin(new u02p000 2(), vsize, vsize);
}

public void Main() {
intx vy, R, G, B;

479

sX (-100) 100
double X, sX, wX, dX, Y, sY, wY, dY, Z1, Z2, Z3; =g >
TMLibimage img = new TMLiblmage(); sY mp
img.newlmage(vsize, vsize): (-100)
// *** BEGIN WINDOW *** //
sX = -100.0;
) 100
sY = -100.0; y v
wX = 200.0; > wX (200)
wY = wX; 1
f—)%

// *** END WINDOW *** //

dX = wX/(double)vsize; }/

dY = wY/(double)vsize;

for(x = 0; x < vsize; x++){ /
X =sX + dX * (double)x; B

for(y = 0; y < vsize; y++){
Y = sY +dY * (double)y;

// *** BEGIN YOUR PROGRAM *** //

Z1 = X*X + Y*Y:; /

22=0;
Z3=0;
R = (int)Z1 % 256;
G = (int)Z1 % 256;
B = (int)Z1 % 256;

// *** END YOUR PROGRAM *** //

img.setRGB(x, y, R, G, B);
}
}

drawlmage(0, 0, img);
img.writelmage("'u02p000_2.omp™);
}
}

dX
EENE Rt

1
dX =wX / vsize = 200 / 480 = 0.4167

— (x)

X) (sX)
1 (dX) (x)
Y
X = sX + dX * x = -100 + 0.4167 * 100 = 141.67

X%+ Y?
Z1= X2+ Y2 = (141.67)? + (141.67)? = 40140.776

(double)
(int) vsize
(double)

R = (int)Z1 % 256
z1
Z1 = 40141
256
0 255
R = Z1 % 256 = 40141 % 256 = 205
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public void Main()

/12
public double getLength(int x, int y, int ox, int oy){

return Math.sqrt((double)((x - 0x)*(x - 0x) + (y - oy)*(y - oy)));
}

// (ox, ay)
public double getRadian(int x, int y, int ox, int oy){
double r = getLength(x, y, ox, oy);
double sth = Math.asin((double)(y - oy)/r);
double cth = Math.acos((double)(x - ox)/r);
if( 0 <= sth && sth <= Math.P1/2.0 && 0 <= cth && cth <= Math.PI/2.0 ) return sth;
else if( 0 <= sth && sth <= Math.P1/2.0 && Math.PI/2.0 <= cth && cth <= Math.PI) return cth;
else if( -1.0*Math.P1/2.0 <= sth && sth <= 0 && Math.P1/2.0 <= cth && cth <= Math.PI') return Math.PI - sth;
else if( -1.0*Math.PI/2.0 <= sth && sth <= 0 && 0 <= cth && cth <= Math.PI/2.0 ) return 2.0*Math.PI - cth;
else return 0.0;




